[
Dnog=0.15

yn. MonogexHas

TK-7 Q_



L=62.5
Dnoa=0.04m; Do6p=0.04m

104.7 § L=116.7
m; Do6p=0.15m __ Dnoa=0.1m; Do6p=0.1m
L=4.6
Dnoa=0.1m; Do6p=0.1m

L/
1\
m
|

[

L=23.1 \




L=52
Dnoa=0.2m; Do6p=0.2m

Dnoa=0.08wm; Do6p=0.08m

L=28.5

L=31.1

Dnoa=0.08wm; Do6p=0.08m

TK-3

TK-1] [

L=17.9
Dno,u,=0.2|vi; DO?D=O.2M

L=35
Dnoa=0.2m; Do6p=0.2m

T4

TK-5

L=116.6

Dnoa=0.2m; Do6p=0.2m

L=50.3
Dnoa=0.2m; Do6p=0.2m

L=40
Dnoa=0.2m; Do6p=0.2m

L=54.9

Dnoa=0.08m; Do6p=0.08m

[
| | -

L

L=15

]EDHO,D,:O.‘]M; Do6p=0.1m

L=21.5

Dnoa=0.1m; Do6p=0.1m

yn. CnopTnBHas

L1

L=144

Dnoa=0.1m; Do6p=0.1m

[.] TK-21

L=103.8
Dnoa=0.1m; Do6p=0.1m

TK-6

L=39
Dnoa=0.1m; Do6p=0.1m

|-



L=20.6

Dnoa=0.15m; Do6p=0.15m

L=21
Dnoa=0.08m; Do6p=0.08m

TK-14

L=24
Dnoa=0.07m; Do6p=0.07m

L=9

Dnoa=0.07m; Do6p=0.07m

L=204
Dnoa=0.1m; Do6p=0.1m

v s

ol

T

n

5 yn. LLkonbHas
Q_ /7~

|_

T

(O]

—u

S,

L=70
Dnoa=0.1m; Do6p=0.1m

TK-9

Dnoa=0.1m; Do6p=0.1m

L=58.5

L=41.1
Dnoa=0.08m; Do6p=0.08m




L=44
Dnoa=0.15m; Do6p=0.15m

[=154.7 (=40
Dnoa=0.1m; Do6p=0.1m Dnoa=0.08m; Do6p=0.08m

L=25
Dnoa=0.08wm; Do6p=0.08m

L=48
Dnoa=0.08m; Do6p=0.08m

L=125
Dnoa=0.15m; Do6p=0.15m

]

] TK-20

L=44.8
Dnoa=0.08wm; Do6p=0.08m

L=42.8
Dnoa=0.1m; Do6p=0.1m

L=11.3
Dnoa=0.1m; Do6p=0.1m
) k TK-19 [ ]

L=136
Dnoa=0.1m; Do6p=0.1m




—

] TK-17]

K18

L=20

Dnoa=0.08m; Do6p=0.08m

L=21.3

Dnoa=0.15m; Do6p=0.15m

yn. [13ep>XUHCKOro

N

yn. Ctpoutenen




oN "8HY “weeg

elerr n ‘umo |

‘utfou sN "gH




YcnoBHble 0003Ha4YeHus

Y3en YyacTtku
PasBereneHuve BkrnitoueH

MoTpebutens
@ Pabota

Y3en
Tennosasi kamepa

McTouHMK
Patota

Mpunoxexue 1

N3m.

Kon.y

Nuer

Ne no

Moan.

Hata

Cxema TennocHabxeHus cenbckoro nocerneHus "MexaypedeHcKkmin"
MyHEeXcKoro MyHuLMnanbHOro panoHa ApxaHrenbckom obnacTtu

CxeMma TennoBbix ceTen oT KoTernbHoin Ne2 |Craaua | Muct Jlnctos

OO0 "Kapnoropckas ynpasnstoLiasi

KomnaHus"

OO0 "T"apaHTOHeprollpoekT"
r.Bonorga, 2014r.




